Online Chapter 9, Appendix H: Difference of Means Tests for Voted in 2016 Election

In talking to people about elections, we often find that a lot of people were not
able to vote because they weren't registered, they were sick, or they just didn't
have the time. Which of the following statements best describes you? 1 =1 voted
in this year’s election. 0 = all other responses of no voting

Group Standard 95% Confidence Interval
Mean Error
Non-Millennial 0.811 0.162 0.780 0.843
Millennial 0.675 0.018 0.639 0.710
Wald Test Non-Millennial = Millennial

F(1, 1249) =31.54
Prob > F =0.000
N=1,250

Note: Means test run on estimate sample, given survey weights for Millennial and
non-Millennial to correct for the oversample of Millennials. Data is 2016 survey.




